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f_nightingale NurseUser

record1 : bed_B2 : BedaNurse : Nurse

Patient_Record

1: discharge

1.1: free_bed

discharge(thePatient)
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aNurse : Nurse record1 :

Patient_Record

bed_B2 : Bed

dutyNurse : NurseUser
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admit(patient)

1:  bn := allocateBed() 1.2: isFree

2: createRecord(bn)
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:Lecturer

:UTO

1: n := getName()

{destroyed}

:DirectorOfStudies {new}

3:destroy()

2: new DirectorOfStudies (n)

:Lecturer

:DirectorOfStudies

:UTO
1: n := getName()

2: new DirectorOfStudies (n)

3:destroy()
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A

C

aNurse : Nurse record1 :bed_B2 : Bed

dutyNurse : NurseUser

Patient_Record

admit(patient)

2: createRecord(bn)

1.2: isFree

1:  bn := allocateBed()
{allocateBed()’ - allocateBed() < 10 msec}

{C - A < 100 msec}
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m : Mung f : Froboz

7.1:[i = 0] foo()

7.2:[i = 1] bar()
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Ada Lovelace : CS4Student Dr. J. Bloggs : CS4DirectorOfStudies

:DirectorOfStudies

email

confirmChoice(m1,...,m6,self)

chooseModules(m1,...m6)

:Student
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